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(1) HERAE X LEM a,b IZXF LT
E[aX + b] = aE[X] + b

(2) HEFKAE X, Y LEH a,b,c ITH LT
E[aX 4+ bY + c] = aE[X] + bE[Y] + ¢
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MERZR X OWIFRHEZ = E[X] £BL, ZDLE
VIX] = E[(X — p)?]
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MERZR X LR a,b 12X LT
VIX] = E[X?] — (E[X])?
V[aX + b] = 22V[X]
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E[XY] CEHULTIE—IZIXFE A LML E AR\,

FEREH X, Y 1S UT e = E[X], py = E[Y] &Lz L &
Cov(X,Y) = E[(X — w)(Y — )]
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3.3

WERER X, Y, Z LE8 a, b iz LT
(0) Cov(X, X) = V[X]
(1) Cov(X,Y) = Cov(Y,X)=E[XY]— E[X]E[Y]
(2) Cov(aX,bY) = abCov(X,Y)
(3) VIX + Y] = V[X]+ V[Y] +2Cov(X, Y)
(4) X,Y D172 51
E[XY] = E[X]E[Y]
Cov(X,Y) =0
VX + Y] = V[X]+ V[Y]
(5) Cov(X +Y,Z) = Cov(X,Z)+ Cov(Y, Z)
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